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A knot diagrarrﬂ €1 €2 G5 Cg €4 C6  Cs (11

Ideals for irreducible component#ﬂ)f Xpar
I = (—u®® +u™ + - 4 5ut + b, P+ 6utt 4 —5ud e, utT - 20t 207 1)

I'=0b-1,a—u, v +u*—1)

* 2 irreducible components of dim¢ = 0, with total 50 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI} =
(—u*®+u*r+. .+ 5ut+b, —uB+6utl+.. - —5ud+a, ut"—2u ... +2u%-1)

(i) Arc colorings
1
a; = O
as =
[
az =
ag =
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ag = (u45— w44 5P — But
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —u%® +2u% + ... — 11u — 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs w2t — 22 1
€2, Ca, Cg w120+ 4w+ 1
c3,Cy ul Fut® 4 4 28u+ 8
c7,C10,C11 w4t 4 Bu+1
cs u'” =210 - — 112u + 64




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs T 1208 Ay — 1
C2, €4, Cg YT A8y . — 20y — 1
€3, Co Yy T 421y o — 112y — 64

€7, €10, C11 YT — 42y + ..+ 53y — 1

cs y47 + 5y46 + -+ 4+ 249088y — 4096




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.951038 + 0.3324681
a = —0.548939 — 0.4548111
b= —1.39671 — 0.263991

—2.29859 + 5.086051

—6.19055 — 7.787081

u = —0.951038 — 0.3324681
—0.548939 + 0.4548111
b= —1.39671 + 0.263991

—2.29859 — 5.086051

—6.19055 + 7.787081

1.011380 + 0.139586.1
0.187121 — 1.0813201
0.152878 + 0.0353431

u =
a =

b:

1.25225 + 2.837791

—2.68977 — 2.394731

1.011380 — 0.1395861
= 0.187121 + 1.0813207
0.152878 — 0.0353431

u =

1.25225 — 2.837791

—2.68977 4 2.394731

= 0.896160 + 0.3366431
= 0.608816 — 1.2510801
= 0.208048 + 0.4205931

0.73808 — 3.398721

—3.20420 4 5.173251

= 0.896160 — 0.3366431
= 0.608816 + 1.2510801
= 0.208048 — 0.4205931

0.73808 + 3.398721

—3.20420 — 5.173251

= 0.929490 + 0.2129781
= —0.382863 + 1.063800.1

—2.99267 — 0.248241

—9.15885 - 0.737211

0.929490 — 0.2129781
—0.382863 — 1.0638001
—0.152157 4+ 0.1880161

—2.99267 + 0.248241

—9.15885 — 0.737211

—1.006120 + 0.3738191
= 0.507879 + 0.365560.1
= 1.365760 + 0.1148721

2.62432 4 8.923261

—1.23068 — 8.398391

= —1.006120 — 0.3738191
= 0.507879 — 0.3655601

b
U
a
b
U
a
b
U
a
b= —0.152157 — 0.1880167
U
a
b
U
a
b
U
a
b= 1.365760 — 0.1148721

2.62432 — 8.923261

—1.23068 + 8.398391




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.586342 + 0.7047751
0.286240 — 0.4965121
—0.636220 — 0.6535091

6.94014 4 2.767471

5.54266 — 3.608081

—0.586342 — 0.7047751
0.286240 + 0.4965121
—0.636220 + 0.6535091

6.94014 — 2.767471

5.54266 + 3.608081

—0.844254 4 0.2675751
0.624042 + 0.7013811
1.43152 + 0.592921

0.239586 + 1.1071601

—2.87652 — 5.488701

—0.844254 — 0.2675751
0.624042 — 0.7013811
1.43152 — 0.592921

0.239586 — 1.1071601

—2.87652 + 5.488701

—0.946938 + 0.6646261
—0.210609 — 0.1920041
= —0.664543 + 0.1359051

5.98354 + 2.318081

4.28165 — 1.642171

—0.946938 — 0.6646261
—0.210609 + 0.1920041
—0.664543 — 0.1359051

5.98354 — 2.318081

4.28165 + 1.642171

—0.842514 4 0.7930441
—0.169363 + 0.1259451
0.111786 + 0.4769341

3.10025 + 1.813671

—3.66686 — 2.053841

—0.842514 — 0.7930441
—0.169363 — 0.1259451
0.111786 — 0.4769341

3.10025 — 1.813671

—3.66686 + 2.053841

0.827943 + 0.8601841
2.70969 + 0.794071
—2.83895 + 0.828101

5.30471 + 2.887951

0.68944 — 2.667521

0.827943 — 0.8601841
= 2.70969 — 0.794071
= —2.83895 — 0.828101

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

5.30471 — 2.887951

0.68944 4 2.667521




Solutions to I} V—1(vol + v/—1CS) Cusp shape
= —0.847216 + 0.8557521
= 0.256476 — 0.1162481 8.19027 — 0.676941 291715+ 0.1
= —0.054478 — 0.6881711
= —0.847216 — 0.8557521
= 0.256476 + 0.1162481 8.19027 + 0.676941 291715+ 0.1

—0.054478 + 0.6881711

= 0.863506 + 0.8407381
= —2.93690 — 1.297121
= 3.21491 — 0.725371

7.05051 — 2.004601

3.77294 + 2.261921

= 0.863506 — 0.8407381
= —2.93690 + 1.297121
= 3.21491 4 0.725371

7.05051 + 2.004601

3.77294 — 2.261921

= 0.815670 + 0.8895801
= —2.42001 — 0.709461
= 2.67739 — 0.691051

10.89330 + 7.085201

3.93867 — 3.327481

0.815670 — 0.8895801
—2.42001 + 0.709461
2.67739 + 0.691051

10.89330 — 7.085201

3.93867 + 3.327481

= —0.930838 + 0.7754411
= 0.203539 + 0.0277851
= 0.305087 — 0.4184361

2.82936 + 4.091261

—3.95731 — 3.336831

= —0.930838 — 0.7754411
= 0.203539 — 0.0277851
= 0.305087 + 0.4184361

2.82936 — 4.091261

—3.95731 + 3.336831

= 0.935935 + 0.8145281
= —2.21964 — 2.455401
= 3.34946 4 0.199981

6.82306 — 4.167211

3.15551 + 3.143341

= 0.935935 — 0.8145281
= —2.21964 + 2.455401
= 3.34946 — 0.199981

6.82306 + 4.167211

3.15551 — 3.143341




Solutions to I7* V—=1(vol + /=1CS) Cusp shape
u = —0.953997 + 0.8164531
a = —0.258063 — 0.0083991 | 7.85574 + 6.899131 0. —4.816301
b= —0.328975 4 0.602645]
u = —0.953997 — 0.8164531
a = —0.258063 + 0.0083991 7.85574 — 6.899131 0.+ 4.816307
b= —0.328975 — 0.6026451
u=0.967508 + 0.8094161
a= 172066 + 2.45725] 4.86878 — 9.099187 0.+ 7.515931
b= —3.04108 — 0.384917
u= 0.967508 — 0.8094161
a= 1.72066 — 2.45725] 4.86878 + 9.099181 0. —7.515931
b= —3.04108 + 0.384911
u=0.917330 + 0.8735421
a= 2187764 1.620701 15.4002 — 3.22951 6.21908 4+ 0.1
b = —3.01700 4 0.235501
u= 0.917330 — 0.873542]
a= 218776 —1.62070] 15.4002 + 3.22951 6.21908 4+ 0.1

b= —3.01700 — 0.235501

u = —0.194123 + 0.6903911
a = —0.768909 + 0.6722721
b= 0.832582 + 0.5723541

5.21653 — 5.131951

4.47363 + 3.772221

u = —0.194123 — 0.6903911
a = —0.768909 — 0.6722721
b= 0.832582 — 0.5723541

5.21653 + 5.131951

4.47363 — 3.772221

u=0.989025 + 0.8182801

a = —1.52457 — 2.270111 10.3470 — 13.41131 0.+ 8.126441
b= 2.85418 + 0.324521

u=0.989025 — 0.8182801

a = —1.52457 4 2.270111 10.3470 + 13.41131 0. —8.126441

b= 2.85418 — 0.32452]




Solutions to I V—1(vol + /—1CS) Cusp shape
u = 0.682080
a= 0.611660 —0.926103 —11.4570
b= —0.132637

u = —0.525813 + 0.3734121
a = —0.094058 4 1.0383301
b= 10.733120 + 0.7603221

1.13890 + 1.313151

3.11319 — 5.853171

u = —0.525813 — 0.3734121
a = —0.094058 — 1.0383301
b= 10.733120 — 0.7603221

1.13890 — 1.313151

3.11319 4 5.853171

u = —0.160803 + 0.5384311
a= 0.823656 — 0.8947951
b= —0.721771 — 0.4937241

0.05463 — 1.888031

0.05102 + 3.763471

u = —0.160803 — 0.5384311
a= 0.823656 4 0.8947951
b= —0.721771 + 0.4937241

0.05463 + 1.888031

0.05102 — 3.763471

u = 0.295011 + 0.4346961
a = —1.38778 + 0.732891
b= 10.681477 — 0.0435881

2.53395 + 0.361001

2.22031 + 1.003551

u= 0.295011 — 0.4346961
a = —1.38778 — 0.732891
b= 10.681477 + 0.0435881

2.53395 — 0.361001

2.22031 — 1.003551




ILIY=(bd—-1,a—u, u*+u?—1)

(i) Arc colorings

o= (o)

a5 =
a9 =
az =

ag —

(ii) Obstruction class =1

(iii) Cusp Shapes = 2u? —u — 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ ud 4 u? -1
3 2
C2,Cq u’ +u*+2u+1
3
3,8, Cg U
€4 ud—u?+2u—1
5 ud—u?+1
cr 1)3
(u+1)
3
€10, C11 (u—1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs v -yt 2y —1
3 2
C2,C4,Co Yy’ + 3y +2y—1
€3,C8,C9 y®
€7, €10, C11 (y— 1)3

12



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS)

Cusp shape

u = —0.877439 4 0.7448621

a = —0.877439 4 0.7448621 4.66906 + 2.828121
b= 1.00000

—0.69240 — 3.359141

u = —0.877439 — 0.7448621
a = —0.877439 — 0.7448621 4.66906 — 2.828121

—0.69240 + 3.359141

b= 1.00000

u= 0.754878

a= 0.754878 0.531480 —1.61520
b= 1.00000

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1 (u? +u? — D) (' + 20t + - — 2% + 1)

C2, Co (u +u? +2u + 1) (w7 + 120" 4+ - +4u +1)

¢s, Co (w4 ut 4 - 28u + 8)
C4 (u —u? 4+ 2u — D) (u*" + 120 4+ - +4u +1)
Cs (u —u? + D) +2u? + . — 2% +1)
7 (w4 1)) (" 4+ 4u*® + - 4 5u+1)
8 ud(ut” — 21t 4 - — 1120 + 64)

€10, €11 (u—1)*)(u*™ +4u* + - 4 5u+ 1)

14



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C5 (> =9+ 2y — )y — 120" 4+ -+ 4y — 1)
C2,¢4,Co (y° + 3y +2y — 1)(y*" +48y*° +--- — 20y — 1)

€3, Co Pyt 4+ 2197 + - — 112y — 64)
€7,€10, C11 (y = 1)) (y*7" — 429" 4 - + 53y — 1)
Cg v (y*7 4 5y*® 4 - - - 4 249088y — 4096)
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